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Seat No.: ________                                                           Enrolment No._________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering C to D Bridge Course Examination – WINTER 2013 

Subject Code: C310702 Date: 26-12-2013        
Subject Name: Fundamental of Digital Electronics 
Time: 02:30 pm - 04:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Each Question is of 1 Mark. 
4. English version is considered to be Authentic. 
5. Use of Simple Calculator is permissible. (Scientific / Higher Version not allowed) 

 
No. Question Text and Option 

1. 
All arithmetic calculation & logical decisions are performed by in __________ unit. 
A. Memory unit B. Control unit 
C. ALU D. Output unit 

2. 
What is the base of binary number? 
A. 2 B. 10 
C. 8 D. 16 

3. 
What is 2’s complement of 00101101? 
A. -45 B. 11010001 
C. 11010011 D. +45 

4. 
What is the 9’s complement of 3465? 
A. 6534 B. 6535 
C. 7645 D. 7646 

5. 
(10101)2 = (__)10 
A. 22 B. 20 
C. 21 D. 25 

6. 
(163.875)10 = (____________)2 
A. 10100011.111 B. 10100010.101 
C. 10100010.111 D. 10100010.001 

7. 
1 + 1 = __ 
A. 11 B. 2 
C. 10 D. None 

8. 
(65.52)8 = (_____________)2 
A. 110101.101010 B. 101110.110010 
C. 110110.110010 D. 101110.110110 

9. 
(1011011011)2 = (___)16 
A. 2FD B. 3DB 
C. 2DB D. 2FB 

10. 
(5C7)16 = (____)10 
A. 1479 B. 1580 
C. 1579 D. 1480 

11. 
The reflected code is also known as _________ code. 
A. ASCII B. Grey 
C. XS-3 Grey D. XS-3 

12. 
The even parity of 0010 BCD code is _.  
A. 00 B. 0 
C. 11 D. 1 

13. 
(10101111001.0111)2 = (_______)8 
A. 3571.35 B. 2571.34 
C. 2570.34 D. 2571.35 
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14. 
(2598.675)10 = (________)16 
A. A27.ACCC B. A25.BCCC 
C. A24.BCCC D. A26.ACCC 

15. 
1 AND 1 = _. 
A. 2 B. 1 
C. 0 D. None 

16. 
1 OR 0 = _. 
A. 10 B. 0 
C. None D. 1 

17. 
The NAND gate output will be low if the two inputs are __. 
A. 00 B. 11 
C. 10 D. 01 

18. 
The simplification of the Boolean expression (A’BC’)’+ (AB’C)’ is _. 
A. BC B. 0 
C. A D. 1 

19. 
The Boolean expression A’B+ AB’+ AB is equivalent to _. 
A. A’B B. A+B 
C. (AB)’ D. AB 

20. 
The output of a logic gate is 1 when all its inputs are at logic 0. The gate is either ____. 
A. a NAND or an EX-OR B. an OR or an EX-NOR 
C. an AND or an EX-OR D. a NOR or an EX-NOR 

21. 
De Morgan’s first theorem shows the equivalence of _____. 
A. NOR gate & Bubbled AND gate. B. OR gate & Ex-OR gate. 
C. NOR gate & NAND gate. D. NAND gate and NOT gate 

22. 

The logic circuit shown in the given fig. can be minimized to _____. 

A. B. 
C. D. 

 

23. 
How many AND gates are required to realize Y = CD+EF+G? 
A. 2 B. 3 
C. 4 D. 5 

24. 
The NOR gate output will be low if the two inputs are _____. 
A. All B. 01 
C. 10 D. 11 

25. 
How many two-input AND & OR gates are required to realize Y=CD+EF+G? 
A. 2,2 B. 2,3 
C. 3,3 D. None 

26. 
When an input signal A=11001 is applied to a NOT gate serially, its output signal is _. 
A. 00110 B. 01100 
C. 00111 D. 10101 

27. 

A universal logic gate is one, which can be used to generate any logic function. Which 
of the following is a universal logic gate? 
A. NAND B. OR 
C. XOR D. AND 

28. 

How many two input AND gates and two input OR gates are required to realize Y = 
BD+CE+AB? 
A. 1,1 B. 4,2 
C. 3,2 D. 2,3 
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29. 

K - Map is used for the purpose of _____. 
A. To minimize the terms in a 

Boolean expression. 
B. Reducing the electronic circuits used. 

C. To maximize the terms of a 
given a Boolean expression. 

D. To map the given Boolean logic 
function. 

30. 
___ is a sum term or a logical product (AND) of several sum terms. 
A. POS B. SOP 
C. Minterm D. Either A or B. 

31. 
Canonical form is a unique way of representing _____.
A. SOP B. Boolean Expressions 
C. Minterm D. None 

32. 
A K-map is an abstract form of _____ diagram, organized as a matrix of squares. 
A. Block Diagram B. Venn Diagram 
C. Cycle Diagram D. Triangular Diagram 

33. 
There are __ Minterms for 3 variables (a, b, c). 
A. 2 B. 8 
C. 0 D. None 

34. 
There are __ cells in a 4-variable K-map. 
A. 12 B. 16 
C. 18 D. None 

35. 
Each product term of a group, w’xy’ and wy, represents the _____ in that group. 
A. POS B. Sum of Minterms 
C. Input D. Both A & B 

36. 

Each group of adjacent Minterms (group size in powers of twos) corresponds to a 
possible product term of the given _____. 
A. Value B. Function
C. Set D. None 

37. 
Don’t care conditions can be used for simplifying Boolean expressions in _____. 
A. Terms B. K – Maps 
C. Examples D. None 

38. 
Don’t care terms should be used along with the terms that are present in _____. 
A. Maxterm B. Minterms 
C. K-Map D. None 

39. 

A _____ is a table, which consists of every possible combination of inputs and its 
corresponding outputs. 
A. False Table B. Truth Table 
C. K – Map D. None 

40. 
There are __ cells in a 3-variable K-map. 
A. 6 B. 8 
C. 9 D. None 

41. 
The don’t care terms are denoted by __. 
A. Ø B. d 
C. All D. X 

42. 
A group of 2 cells is called a _____. 
A. Quad B. Octet 
C. Pair D. None 

43. 
_____ is a simple combinational digital circuit built from logic gates. 
A. None B. Null Adder 
C. Half Adder D. Full Adder 

44. 
_____ is used to subtract two inputs having more than one bit. 
A. Half Subtractor B. Counter 
C. Full Subtractor Circuit  D. Multiplexer 

45. 
_____ is a circuit, which subtracts two inputs each of one bit. 
A. All B. Full Subtractor 
C. Half Subtractor  D. Full Adder 
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46. 
A _____ circuit converts the code of one form to another form. 
A. All B. Decoder 
C. Code Converter D. Encoder 

47. 
A full adder logic circuit will have ______. 
A. 2 inputs and 2 outputs. B. 3 inputs and 3 outputs. 
C. 3 inputs and 2 outputs. D. 2 inputs and 1 output. 

48. 
A _____ Converter deals with converting binary code to gray code. 
A. Gray to Binary Code B. Binary Code 
C. Binary to Gray Code D. Grey Code 

49. 
The full adder is the combination of _____. 
A. 2 Half Subtractor B. 2 BCD Adder 
C. 2 Half Adder D. None 

50. 
A Full Subtractor is the combination of __________. 
A. 2 Half Adder B. 2 BCD Subtractor 
C. 2 Half Subtractor D. None 

51. 
In half adder, the carry is 1 when AB = __. 
A. 01 B. 10 
C. 00 D. 11 

52. 
In Half Subtractor, borrow is 1 when XY = __. 
A. 00 B. 10 
C. 11 D. 01 

53. 
In half adder, Sum S = __. 
A. A’B + AB’ B. A XOR B 
C. None D. Both A & B 

54. 
In Half Subtractor, Difference D = __. 
A. A’B + AB’ B. A XOR B
C. None D. Both A & B 

55. 
In Half Subtractor, borrow Bout= __. 
A. XY’ B. XY 
C. X’Y’ D. X’Y 

56. 
In half adder, Carry C = __. 
A. A’B’ B. A’B 
C. AB’ D. AB 

57. 
The number of control lines for an 8 – to – 1 multiplexer is __. 
A. 2 B. 4 
C. 5 D. 3 

58. 
The device which changes from serial data to parallel data is _____. 
A. MULTIPLEXER B. COUNTER 
C. FLIP-FLOP D. DEMULTIPLEXER 

59. 
A device which converts BCD to Seven Segment is called _____. 
A. Encoder B. Demultiplexer 
C. Multiplexer D. Decoder 

60. 
The number of control lines for 16 to 1 multiplexer is _____. 
A. 2 B. 3 
C. 5 D. 4 

61. 
The number of control lines for 32 to 1 multiplexer is _____. 
A. 5 B. 4 
C. 6 D. 6 

62. 
A 1 to 16 Demultiplexer requires __ select lines. 
A. 2 B. 4 
C. 5 D. 8 

63. 
A multiplexer is also called ____________. 
A. Many into One B. Data Selector 
C. Both A & B D. None 
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64. 
The word “Demultiplex” means _____. 
A. Many B. None 
C. One D. One into Many 

65. 
A 3 to 8 Decoder is also called __________. 
A. Binary to Octal decoder B. Grey Code Converter 
C. Binary Code Converter D. None 

66. 
Decoders are used in __________. 
A. Counter systems. B. All 
C. A/D converters. D. To drive a display system. 

67. 

A combinational circuit is one in which the output depends on the __________. 
A. Input combination & the 

previous output. 
B. Present output & the previous output. 

C. Input combination at that time. D. None 

68. 
A _____ generates a particular binary word or number. 
A. Decoder B. Demultiplexer 
C. Encoder D. Multiplexer 

69. 
A _____ is used to change a BCD number into an equivalent decimal number. 
A. Decoder B. Demultiplexer 
C. Encoder D. Multiplexer 

70. 
A 1 to 8 Demultiplexer requires __ select lines. 
A. 1 B. 3 
C. 2 D. 4 

 
************** 

Ȥજુરાતી 

ન.ં ̆ĕ તેમજ િવકƣપ 

1. 

બધી એર�થમેટ�ક ગણતર� અને લોĥકલ ડ�સીજન _____ Ȼનુીટ Ďારા પરફોમ½ થાય છે.  

A.  મેમર� Ȼનુીટ  B. કં˼ોલ Ȼનુીટ 

C. ALU  D.  આઉટȶટુ Ȼનુીટ 

2. 

બાઈનર� નબંરનો બેઝ Ƀુ ંછે?  

A.  ૨ B. ૧૦ 

C. ૮ D.  ૧૬ 

3. 

૦૦૧૦૧૧૦૧ȵુ ં૨ȵુ ંકોƠપલીમેƛટ Ƀુ ંછે?  

A.  -૪૫ B. ૧૧૦૧૦૦૦૧ 

C. ૧૧૦૧૦૦૧૧ D.  +૪૫ 

4. 

૩૪૬૫ȵુ ં૯ȵુ ંકોƠપલીમેƛટ Ƀુ ંછે?  

A.  ૬૫૩૪ B. ૬૫૩૫ 

C. ૭૬૪૫ D.  ૭૬૪૬ 

5. 

(૧૦૧૦૧)૨ = (__)૧૦ 

A.  ૨૨ B. ૨૦ 

C. ૨૧ D.  ૨૫ 

6. 

(૧૬૩.૮૭૫)૧૦ = (____________)૨ 

A.  ૧૦૧૦૦૦૧૧.૧૧૧ B. ૧૦૧૦૦૦૧૦.૧૦૧ 

C. ૧૦૧૦૦૦૧૦.૧૧૧ D.  ૧૦૧૦૦૦૧૦.૦૦૧ 
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7. 

૧ + ૧ = __ 

A.  ૧૧ B. ૨ 

C. ૧૦ D.  એક પણ નહ� 

8. 

(૬૫.૫૨)૮ = (__________)૨ 

A.  ૧૧૦૧૦૧.૧૦૧૦૧૦ B. ૧૦૧૧૧૦.૧૧૦૦૧૦ 

C. ૧૧૦૧૧૦.૧૧૦૦૧૦ D.  ૧૦૧૧૧૦.૧૧૦૧૧૦ 

9. 

(૧૦૧૧૦૧૧૦૧૧)૨ = (__________)૧૬ 

A.  ૨FD  B. ૩DB 

C. ૨DB D.  ૨FB 

10. 

(૫C૭)૧૬ = (__________)૧૦ 

A.  ૧૪૭૯ B. ૧૫૮૦ 

C. ૧૫૭૯ D.  ૧૪૮૦ 

11. 

ર�Ɲલેƈટ°ડ કોડ _____ કોડથી પણ ઓળખાય છે. 

A.  ASCII  B. ˴ેય  

C. XS ‐ ૩ ˴ેય  D.  XS – ૩ 

12. 

૦૦૧૦ BCD કોડની ઇવન પેર�ટ� _____ છે. 

A.  ૦૦ B. ૦ 

C. ૧૧ D.  ૧ 

13. 

(૧૦૧૦૧૧૧૧૦૦૧.૦૧૧૧)૨ = (____)૮ 

A.  ૩૫૭૧.૩૫ B. ૨૫૭૧.૩૪ 

C. ૨૫૭૦.૩૪ D.  ૨૫૭૧.૩૫ 

14. 

(૨૫૯૮.૬૭૫)૧૦ = (____)૧૬ 

A.  A૨૭.ACCC B. A૨૫.BCCC 

C. A૨૪.BCCC D.  A૨૬.ACCC 

15. 

૧ AND ૧ = __. 

A.  ૨ B. ૧ 

C. ૦ D.  એક પણ નહ� 

16. 

૧ OR ૦ = __.  

A.  ૧૦ B. ૦ 

C. એક પણ નહ� D.  ૧ 

17. 

જો બđે ઇનȶટુ __ છે તો NAND ગેઇટȵુ ંઆઉટȶટુ લૉ હશે.  

A.  ૦૦ B. ૧૧ 

C. ૧૦ D.  ૦૧ 

18. 

(A’BC’)’ + (AB’C)’ ȸલુીયન એƈશ̆ેશનȵુ ંસીƠલીફ�ક°શન ___ છે.  

A.  BC B. ૦ 

C. A D.  ૧ 
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19. 

A’B + AB’ + AB ȸલુીયન એƈશ̆ેશનȵુ ંઇƈવીવેɀ્ટં ___ છે.  

A.  A’B B. A+B 

C. (AB)₀  D.  AB 

20. 

Ԍયાર° લોĥક ગેઇટના ંબધા ઇનȶટુ ૦ લોĥક° છે Ɨયાર° તેȵુ ંઆઉટȶટુ ૧ છે. ગેઇટ _____ છે  

A.  NAND ક° EX‐OR  B. OR ક° EX-NOR 

C. AND ક° EX-OR D.  NOR ક° EX-NOR 

21. 

De Morganનો પહ°લો િનયમ _____ની સરખામણી બતાવે છે. 

A.  NOR ગેઇટ અને Bubbled ANDગેઇટ  B. OR ગેઇટ અને Ex‐OR ગેઇટ   

C. NOR ગેઇટ અને NAND ગેઇટ   D.  NAND ગેઇટ અને NOT ગેઇટ   

22. 

નીચ ેદશા½વેલ લોĥક સક�ટ _____ મા ંમીનીમાઇઝ થઈ શક°. 

A.  B.  
C. D.  

 

23. 

Y = CD+EF+G દશા½વવા માટ° ક°ટલા AND ગેઈટની જĮર પડ°?  

A.  ૨ B. ૩ 

C. ૪ D.  ૫ 

24. 

જો બે ઈનȶટુ __ હોય તો NOR ગેઈટȵુ ંઆઉટȶટુ લૉ હશે.   

A.   B. ૦૧ 

C. ૧૦ D.  ૧૧ 

25. 

Y = CD+EF+G દશા½વવા માટ° ક°ટલા AND અને OR ગેઈટની જĮર પડ°?  

A.  ૨,૨ B. ૨,૩ 

C. ૩,૩ D.  એક પણ નહ� 

26. 

Ԍયાર° ઈનȶટુ સીƊનલ A = ૧૧૦૦૧ NOT ગેઈટમા ંસીર�યલી આપવામા ંઆવે Ɨયાર° તેȵુ ં

આઉટȶટુ ______ છે. 

A.  ૦૦૧૧૦ B. ૦૧૧૦૦ 

C. ૦૦૧૧૧ D.  ૧૦૧૦૧ 

27. 

એક એવો Ȼનુીવસ½લ ગેઈટ છે ક° Ȑનો ઉપયોગ કોઈ પણ લોĥક ફંƈશન જનર°ટ કરવા માટ° થઈ 

શક°. નીચેમાથંી કયો Ȼનુીવસ½લ ગેઈટ છે? 

A.  NAND  B. OR 

C. XOR D.  AND 



8/11 

 

28. 

Y = BD+CE+AB દશા½વવા માટ° ક°ટલા બે ઈનȶટુ AND ગેઈટ અને બે ઈનȶટુ OR 

ગેઈટની જĮર પડ°?  

A.  ૧,૧ B. ૪,૨ 

C. ૩,૨ D.  ૨,૩ 

29. 

K – Mapનો ઉપયોગ ______ ના ંપપ½ઝ માટ° થાય છે.  

A.  ȸલુીયન એƈસ̆ેશનમા ંટƠસ½ 

મીનીમાઈઝ કરવા 

B. ઈલેƈ˼ોનીƈસ સક�ટમો વપરાશ ધટાડવા  

C. આપેલા ંȸલુીયન એƈસ̆ેશનની 

ટƠસ½ મીનીમાઈઝ કરવા 

D.  આપેલા ંȸલુીયન લોĥક ફંƈશન મૅપ કરવા 

30. 

થોડા Sum  ટƠસ½ની sum ટમ½ અથવા લોĥકલ ̆ોડƈટ (AND) ____ છે.  

A.  POS  B. SOP 

C. મીનટમ½  D.  A અથવા B 

31. 

_____ દશા½વવાનો Ȼનુીક વૅ ક°નોનીકલ ફોમ½ છે. 

A.  SOP  B. ȸલુીયન એƈસ̆ેશન  

C. મીનટમ½ D.  એક પણ નહ� 

32. 

ƨક­અરનો મે˼�ƈશ દશા½વતો K – Map _____ ડાયા˴ામȵુ ંઍબƨ °˼ટ ફોમ½ છે.  

A.  ƞલોક ડાયા˴ામ B. વૅન ડાયા˴ામ 

C. સાયકલ ડાયા˴ામ D.  ˼ાયƊંȻલુર ડાયા˴ામ 

33. 

૩ વેર�એબલ (a,b,c) માટ° __ મીનટƠસ½ છે. 

A.  ૨ B. ૮ 

C. ૦ D.   

34. 

૪ વેર�એબલ K – Mapમા ં__ શેƣસ છે. 

A.  ૧૨ B. ૧૬ 

C. ૧૮ D.   

35. 

ʎપુના ં̆Ɨયેક ̆ોડƈટ ટમ½ w’xy’ અને wy તે ʎપુમા ં___ દશા½વે છે.  

A.  POS  B. મીનટƠસ½નો સરવાળો 

C. ઈનȶટુ D.  A અને B બđે 

36. 

એડȐસટં મીનટƠસ½ȵ ુ ં̆Ɨયેક ʎપુ (બેના ંપાવરમા ંʎપુ સાઈઝ) આપેલા _____ના ંસભંિવત 

̆ોડƈત ટમ½ દશા½વે છે. 

A.  વેƣȻ ુ B. ફંƈશન  

C. સેટ D.  એક પણ નહ� 

37. 

ડҭટ ક­ર કંડ�શનનો ઉપયોગ _____ મા ંȸલુીયન એë̆ેશન સીƠƜલીફાય કરવા માટ° થઈ શક°.  

A.  ટƠસ½  B. K – Maps 

C. એƈઝાƠƜƣસ D.  એક પણ નહ� 
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38. 

ડҭટ ક­ર કંડ�શનનો ઉપયોગ ટƠસ½ સાથે ક° Ȑ _____મા ંઉપƨથીત હોય Ɨયાર° કરવો જોઈએ. 

A.  મેƈસટમ½ B. મીનટƠસ½ 

C. K ‐ Map  D.  એક પણ નહ� 

39. 

_____ એક ટ°બલ છે ક° Ȑ ઈનȶટુ અને તનેે અȵĮુપ આઉટȶટુની ̆Ɨયેક શð કોƠબીનેશન 

ધરાવે છે. 

A.  ફƣસ ટ°બલ B. јથ ટ°બલ 

C. K ‐ Map  D.  એક પણ નહ� 

40. 

૩ વેર�એબલ K – Mapમા ં__ શેƣસ છે. 

A.  ૬ B. ૮ 

C. ૯ D.  એક પણ નહ�  

41. 

ડҭટ ક­ર ટƠસ½ને __ વડ° દશા½વવામા ંઆવે છે.  

A.  Ø B. d 

C. બધા D.  X 

42. 

૨ સેƣસના ંʎપુને _____ કહ°વાય છે. 

A.  ƈવૅડ B. ઓƈટ°ટ  

C. જોડ� D.  એક પણ નહ� 

43. 

લોĥક ગેઈͫસમાથંી બનાવલે સીƠપલ કોƠબીનેશનલ ડ�ĥટલ સક�ટ _____ છે. 

A.  એક પણ નહ� B. નલ ઍડર 

C. હાફ ઍડર D.  ĭલ ઍડર 

44. 

એકથી વધાર° બીટ ધરાવતા ંબે ઈનȶટુને બાદ કરવા _____ છે.  

A.  હાફ ઍડર B. કાઉƛટર 

C. ĭલ સબ °˼ƈટર સક�ટ D.  મƣટ�Ɯલેëર 

45. 

_____ સક�ટ છે ક° Ȑ એક બીટવાળા બે ઈનȶટુને બાદ કર° છે. 

A.  બધા B. ĭલ સબ °˼ƈટર 

C. હાફ સબ °˼ƈટર D.  ĭલ ઍડર 

46. 

_____ સક�ટ કોડને એક ફોમ½માથંી બીĤં ફોમ½મા ંબદલે છે. 

A.  બધા B. ડ�કોડર 

C. કોડ કƛવટ½ર  D.  એનકોડર 

47. 

ĭલ ઍડર સક�ટ _____ હશે. 

A.  ૨ ઈનȶટુ અને ૨ આઉટȶટુ   B. ૩ ઈનȶટુ અને ૩ આઉટȶટુ 

C. ૩ ઈનȶટુ અને ૨ આઉટȶટુ D.  ૨ ઈનȶટુ અને ૧ આઉટȶટુ 

48. 

_____ કƛવટ½ર બાઈનર� કોડમાથંી ˴ેય કોડમા ંĮપાતંર કર° છે. 

A.  ˴ેય Ȭુ બાઈનર� કોડ B. બાઈનર� કોડ 

C. બાઈનર� Ȭુ ˴ેય કોડ D.  ˴ેય કોડ 
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49. 

ĭલ ઍડર _____ȵુ ંકોƠબીનેશન છે.  

A.  ૨ હાફ સબ °˼ƈટર  B. ૨ BCD ઍડર  

C. ૨ હાફ ઍડર  D.  એક પણ નહ�  

50. 

ĭલ સબ °˼ƈટર _____ȵુ ંકોƠબીનેશન છે.  

A.  ૨ હાફ ઍડર B. ૨ BCD સબ °˼ƈટર  

C. ૨ હાફ સબ °˼ƈટર D.  એક પણ નહ�  

51. 

હાફ ઍડરમા,ં ક­ર� ૧ છે Ԍયાર° AB = __. 

A.  ૦૧ B. ૧૦ 

C. ૦૦ D.  ૧૧ 

52. 

હાફ સબ °˼ƈટરમા,ં બોરૉવ ૧ છે Ԍયાર° XY = __. 

A.  ૦૦ B. ૧૦ 

C. ૧૧ D.  ૦૧ 

53. 

હાફ ઍડરમા,ં Sum S = _____. 

A.  A’B + AB’ B. A XOR B 

C. એક પણ નહ� D.  બđે A અને B 

54. 

હાફ સબ °˼ƈટરમા,ં Difference D = __. 

A.  A’B + AB’ B. A XOR B 

C. એક પણ નહ� D.  બđે A અને B 

55. 

હાફ સબ °˼ƈટરમા,ં બોરૉવ Bout = __. 

A.  XY’ B. XY 

C. X’Y’ D.  X’Y 

56. 

હાફ ઍડરમા,ં ક­ર� C = _____. 

A.  A’B’ B. A’B 

C. AB’ D.  AB 

57. 

૮ Ȭુ ૧ મƣટ�Ɯલેëર માટ° કં˼ોલ લાઈનની સƉંયા __ હોય છે.  

A.  ૨ B. ૪ 

C. ૫ D.  ૩ 

58. 

એક સાધન ક° Ȑ સીર�યલ ડ­ટાને પૅર°લલ ડ­ટામા ંબદલે છે તે _____ છે. 

A.  મƣટ�Ɯલેëર B. કાઉƛટર  

C. Ɲલીપ Ɲલોપ  D.  ડ�મƣટ�Ɯલેëર 

59. 

એક સાધન ક° Ȑ BCDને સેવન સેગમેƛટમા ંબદલે છે તે _____ છે. 

A.  એનકોડર  B. ડ�મƣટ�Ɯલેëર 

C. મƣટ�Ɯલેëર D.  કાઉƛટર  

60. 

૧૬ Ȭુ ૧ મƣટ�Ɯલેëર માટ° કં˼ોલ લાઈનની સƉંયા __ હોય છે.  

A.  ૨ B. ૪ 

C. ૫ D.  ૩ 
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61. 

૩૨ Ȭુ ૧ મƣટ�Ɯલેëર માટ° કં˼ોલ લાઈનની સƉંયા __ હોય છે.  

A.  ૫ B. ૩ 

C. ૬ D.  ૪ 

62. 

૧ Ȭુ ૧૬ ડ�મƣટ�Ɯલેëર __ સીલેƈટ લાઈƛસ જોઈએ છે. 

A.  ૨ B. ૪ 

C. ૫ D.  ૮ 

63. 

મƣટ�Ɯલેëરને _____ પણ કહ° છે. 

A.  મેની ઈનȬુ વન B. ડ­ટા સીલેƈટર  

C. બđે A અને B  D.  એક પણ નહ� 

64. 

ડ�મƣટ�Ɯલેë શƞદનો અથ½ _____ છે. 

A.  મેની B. એક પણ નહ�  

C. વન D.  વન ઈનȬુ મેની 

65. 

૩ Ȭુ ૮ ડ�કોડરને _____ પણ કહ° છે. 

A.  બાઈનર� Ȭુ ઓƈટલ ડ�કોડર B. ˴ેય કોડ કƛવટ½ર  

C. બાઈનર� કોડ કƛવટ½ર  D.  એક પણ નહ�  

66. 

ડ�કોડરનો ઉપયોગ ______ મા ંથાય છે. 

A.  કાઉƛટર સીƨટમ B. બધા 

C. A/D કƛવટ½ર D.  ડ�સƜલેય સીƨટમ ˾ાઈવ કરવા માટ°  

67. 

કોƠબીનેશનલ સક�ટ એક છે ક° Ȑમા ંઆઉટȶટુ ______ ઉપર આધાર ધરાવે છે.  

A.  ઈનȶટુ કોƠબીનેશન અને પાછલા 

આઉટȶઉુટ 

B. હાજર આઉટȶટુ અને પાછલા આઉટȶટુ  

C. તે સમયના ંઈનȶટુ કોƠબીનેશન  D.  એક પણ નહ� 

68. 

_____ પટ�ɉલુર બાઈનર� શƞદ અથવા સƉંયા જનર°ટ કર° છે. 

A.  ડ�કોડર B. ડ�મƣટ�Ɯલેëર 

C. એનકોડર D.  મƣટ�Ɯલેëર  

69. 

BCD સƉંયાને ઈƈવીવેલƛટ ડ°સીમલ સƉંયામા ંબદલવા માટ° ______નો ઉપયોગ થાય છે.  

A.  ડ�કોડર B. ડ�મƣટ�Ɯલેëર 

C. એનકોડર D.  મƣટ�Ɯલેëર  

70. 

૧ Ȭુ ૮ ડ�મƣટ�Ɯલેëર __ સીલેƈટ લાઈƛસ જોઈએ છે. 

A.  ૧ B. ૩ 

C. ૨ D.  ૪ 
 

************** 


